AS3.8  Time Series Markers Report 2013

Candidates were able to use iNZight competently to analyse data, produce displays and make predictions. The interpretation of this was generally done very poorly.
Within reports ‘General discussion’ was well done, but there was a lack of specific quantitative discussion required at Level 3 for the trend and forecasts.
Successful candidates had clearly spent some time learning what was required. 

Students who did not achieve may have assumed that understanding how to analyse the data was all that was required. There was a failure to understand that the emphasis is on the discussion and interpretation of the analysis, not just copying some graphs into a report.
Not Achieve

· Some candidates failed to carefully read information provided on the variables. 
eg. Confused ‘number of transactions’ with ‘total value of transactions’

· Some candidates had difficulty with the units. eg  A ‘Total value’ of 2000 on the graph axis means $2 000 000 000 and a ‘nTotal’ of 5e+07 means 50 000 000 transactions.

· Failing to describe the Trend Quantitatively. Saying ’the trend increases steadily’ is not enough. Either an interpretation of the gradient or calculating the monthly or yearly or 10 yearly change of the trend was required. eg ‘The trend increases by $25 million per month’ Also frequent errors in calculations, especially dividing by incorrect number of months, or calculating monthly change yet discussing yearly change. 
· Failing to give Numerical Predictions. Copying the prediction graph and table of forecasts from iNZight is not enough. Some numerical examples of forecasts – with correct units were required. eg ‘The forecast for Jan 2014 is $750 million’
· Although the standard requires the purpose of the investigation to be specified ‘I am going to investigate the....’ this point was marked very leniently, and probably will not stand up to moderation.
Achieve but aiming for Merit

· Numerical discussion of the trend lacking Context. What is the variable of concern?        eg ‘On average the value of credit card transaction increases by $25 million per month’
· Seasonality discussion lacking Numerical Values and Context. By how much is the December peak in the value of credit card purchases above average?  eg  ‘The value of credit card transactions is $500 million above average in December’.  And most students failed to understand the effect of number of days in a month on the monthly data.
· Seasonality components not correctly calculated, or calculated but not discussed relating to forecasts.
· Both numerical forecasts and accuracy of forecasts needed to be discussed.

· Forecasts discussion lacked Context (or rounding & units). eg ‘The predicted value of credit card transactions for Jan 2014 is $750 million’

· Merit also needed vertical graph axis labelled correctly. This point was marked very leniently, and probably will not stand up to moderation.
Merit and wanting Excellence: Check the Nayland Maths website for what to do.
Reassessment? Spend time on-line researching what is required. Look at the NZQA exemplars and the exemplar on the Nayland Maths Website and do some learning.
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